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(a) ffi{R
(c) *Ji}'r

(a) Decomposition
(c) Coding

(b)  

…(d)  RFitT“ ミR3

(b) Abstrac●on

(d)  Analysis

(l of4)

l:Fftr6ilc sis : 60

[Maximum Marks : 60

Which of the lbllowing is not a conrputativc thinking technique ?
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(ii) 's'qs

(→  !
(C)   S

(2 of4)

(b)   

…(d)  
…

0)#
(d) &
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(a)   

…(C)  
…`C'is a______language.

(a) High level (b) Low level
(c) Middle level (d) Machine level

( i i i) i-fr+c{ 6tlc +i qrlH + faq mnlruu I'+ fr fr r-&d iFI sq*q fuql qrdr t i

Which of the following symbol is used to denote a pre-processor statement ?

0) ! (D #

(a) cFd{rd 31frc{
(c) cm{frs

(0 1000
(C)  0001

(a)   1.5

●) 15
(c)   5

(b) while
(d) 3si-nqS

O) crrrdffi&
(d) fcfc-ql

o)-5

for

do‐while

Which of the following is an example of iteration ?

(O fOr (b) WhilC
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(b) 0100
(d)  1010

VЛし■isthe sult of0110 2L l100?

m曇牝.0司…翻∫IⅧ
(C) S              C)-1・5
mat wili be the output ofthe expression-15%-10?

(c)   S                                  (d)   &

。v)針橘は11き論硼¨ 可郵でくЧさ?
(→

(C)

(c) do'while (d) All of the above

(v) rfi' crqt{7"3n+ailIft-drdli ?

Optator o/o in 'C' - langruge is called
(a) Percentage operator O) Quotient operaror
(c) Modulus (d) Division

(vi) qsq(!+fi nmt gGtdrt i
(a) -1 G) 0

(c) I (d) 2

An array index gtarts with
(a) -1 (b)

o)-5
o)-1.5
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(ix) inr ats1l81 Q dEFn i d-€T ff orftsilq {sr さ蒻爺さ|

(b)  32
(d)  40

Maximum number of elements in the array declaration int a[5][8] is 

-'

(a) 28 (b)  32

可ミ|
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(lX10)

ω 喜 黙 猛 η論 1誦 躙 1_載 ど ,前 引 都

(a)  28
(c)   35

(a) や円 lquヽ

(C)   

…

(b)   ―
(d)-1寺 洒■■

TЪc procc Oftranslatlng a souu prognun into machine lanuge iS a ib□ ction of

(3)

(3)

(3)

(3)

(3)

(3)

(3)

3

4

5

6

7

(a) Compiler
(c) Assembler

0)TrallSiator

(d)None oftLsc
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議 tiolt― B
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Whtis Constant?Expldn different constants in C‐ language

…

詢 硼お t?― l

恥嘔at is computational thimttng?Explain.

― ―
論 爺雨 ヽ 翻 改 1

Dcflne biOMse operators.

蕪 1・,興 軍甫 論 赫 l

Explin the fomatted input output statements.

漁 璽引 き?岬で、Чポエ |

Whatis Nested i∞ p?Give example.

``if elF'喘Ч」哺
―

l

Expinin the“ if― elゞ'Statement.

―

熾引1れ「さ神暉゛ 1

Whatis MultidimensiOnal amy?Explain.

薇甲由1日Tttt?― ■令Rl
what is RtcursiOn?Give exatnple.
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(1)Pattem re∞gnitiOn

H.粋禽慾1即備面司T端藤哺き1豪哺,_― 象れ 職 :
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(4x2)

(i) area = nf + 2rrh

(i) area = rf + 2mh

(iii) side = {?: -t, -,}b--cos G)

0¨け枇・

① け̈冊・
(iv)E=nllaXh+::| (2x4)

(8)

(8)
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WHte a pЮ gram tO flnd:argest numbcrin an array Ofn numbers
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(2x4)

(3)


